
Ratio yield comparison



7.7GeV   0-10%   |y|<0.5

• JAM model

•
𝑁𝑝
𝑠𝑖𝑚

𝑁𝑝
𝑑𝑎𝑡𝑎 =

45.4

38.26
= 1.19

• 0.22GeV, 5.8fm  
𝑁𝑑
𝑠𝑖𝑚

𝑁𝑑
𝑑𝑎𝑡𝑎 =

1.13

1.41

• 0.26GeV, 5.4fm  
𝑁𝑡
𝑠𝑖𝑚

𝑁𝑡
𝑑𝑎𝑡𝑎 =

0.00124

0.0231

•
(𝑁𝑡𝑁𝑝/𝑁𝑑

2)𝑠𝑖𝑚

(𝑁𝑡𝑁𝑝/𝑁𝑑
2)𝑑𝑎𝑡𝑎

=
0.041

0.446

• 𝑁𝑡𝑁𝑝/𝑁𝑑
2 Ratio yield min-bias

•
𝑁𝑝
𝑠𝑖𝑚

𝑁𝑝
𝑑𝑎𝑡𝑎 =

45.4

38.26

• 0.30GeV, 4.2fm  
𝑁𝑑
𝑠𝑖𝑚

𝑁𝑑
𝑑𝑎𝑡𝑎 =

0.794

1.41

• 0.42GeV, 5.6fm  
𝑁𝑡
𝑠𝑖𝑚

𝑁𝑡
𝑑𝑎𝑡𝑎 =

0.00663

0.0231

•
(𝑁𝑡𝑁𝑝/𝑁𝑑

2)𝑠𝑖𝑚

(𝑁𝑡𝑁𝑝/𝑁𝑑
2)𝑑𝑎𝑡𝑎

=
0.446

0.446

• d/p & t/p Ratio yield min-bias

•
𝑁𝑝
𝑠𝑖𝑚

𝑁𝑝
𝑑𝑎𝑡𝑎 =

45.4

38.26

• 0.26GeV, 6.0fm  
𝑁𝑑
𝑠𝑖𝑚

𝑁𝑑
𝑑𝑎𝑡𝑎 =

1.79

1.41

• 0.50GeV, 6.0fm  
𝑁𝑡
𝑠𝑖𝑚

𝑁𝑡
𝑑𝑎𝑡𝑎 =

0.0134

0.0231

•
(𝑁𝑡𝑁𝑝/𝑁𝑑

2)𝑠𝑖𝑚

(𝑁𝑡𝑁𝑝/𝑁𝑑
2)𝑑𝑎𝑡𝑎

=
0.177

0.446



19.6GeV   0-10%   |y|<0.5

• JAM model

•
𝑁𝑝
𝑠𝑖𝑚

𝑁𝑝
𝑑𝑎𝑡𝑎 =

29.4

20.96
= 1.40

• 0.22GeV, 5.8fm  
𝑁𝑑
𝑠𝑖𝑚

𝑁𝑑
𝑑𝑎𝑡𝑎 =

0.157

0.277

• 0.26GeV, 5.4fm  
𝑁𝑡
𝑠𝑖𝑚

𝑁𝑡
𝑑𝑎𝑡𝑎 =

0.000212

0.00170

•
(𝑁𝑡𝑁𝑝/𝑁𝑑

2)𝑠𝑖𝑚

(𝑁𝑡𝑁𝑝/𝑁𝑑
2)𝑑𝑎𝑡𝑎

=
0.252

0.466

• 𝑁𝑡𝑁𝑝/𝑁𝑑
2 Ratio yield min-bias

•
𝑁𝑝
𝑠𝑖𝑚

𝑁𝑝
𝑑𝑎𝑡𝑎 =

29.4

20.96

• 0.26GeV, 2.8fm  
𝑁𝑑
𝑠𝑖𝑚

𝑁𝑑
𝑑𝑎𝑡𝑎 =

0.0308

0.277

• 0.30GeV, 3.0fm  
𝑁𝑡
𝑠𝑖𝑚

𝑁𝑡
𝑑𝑎𝑡𝑎 =

1.5𝑒−5

0.00170

•
(𝑁𝑡𝑁𝑝/𝑁𝑑

2)𝑠𝑖𝑚

(𝑁𝑡𝑁𝑝/𝑁𝑑
2)𝑑𝑎𝑡𝑎

=
0.446

0.466

• d/p & t/p Ratio yield min-bias

•
𝑁𝑝
𝑠𝑖𝑚

𝑁𝑝
𝑑𝑎𝑡𝑎 =

29.4

20.96

• 0.42GeV, 5.6fm  
𝑁𝑑
𝑠𝑖𝑚

𝑁𝑑
𝑑𝑎𝑡𝑎 =

0.384

0.277

• 0.46GeV, 6.0fm  
𝑁𝑡
𝑠𝑖𝑚

𝑁𝑡
𝑑𝑎𝑡𝑎 =

0.00236

0.00170

•
(𝑁𝑡𝑁𝑝/𝑁𝑑

2)𝑠𝑖𝑚

(𝑁𝑡𝑁𝑝/𝑁𝑑
2)𝑑𝑎𝑡𝑎

=
0.491

0.466
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